Chapter 07 Understanding and Reaching Global Consumers and Markets

Multiple Choice

1. What is the main reason for Tata’s globalization?
a) To spread the Indian culture and influence
b) The Indian market is too small
c) To become a global giant brand
d) The Tata group has grown too big

e) To reduce vulnerability to a single economy

Ans: e
Feedback: One of the main drivers for going global is to reduce the Group’s vulnerability to a single economy.
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2. What does globalization mean for the Tata Group?
a) Each company has to assess if it has the capabilities to succeed in an overseas market b) The Group seeks to grow its business in specific locations on a short-term basis
c) To transplant India into the countries it sets up operations in
d) It is mandate for every Tata company or subsidiary to go global 
e) Solely to set up a presence for Tata in different parts of the world

Ans: a
Feedback: Going global is not a mandate for every Tata company or subsidiary, to be followed blindly. Rather, each company has to assess if it has the capabilities to succeed in an overseas market and if that market represents an attractive opportunity for it to grow.
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3. What approach(es) did Tata take in going global? 

a) Wholly owned subsidiaries
b) Strategic alliances

c) Acquisition
d) Joint ventures
e) Tata did all of the above

Ans: e
Feedback: In some foreign markets, Tata has set up wholly owned subsidiaries, either from scratch or through acquisition. Tata also formed joint ventures and strategic alliances in other foreign markets.
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4. Which of the following statements about the dynamics of world trade is true?
a) All nations participate equally in world trade
b) Manufactured goods account for 10 percent of world trade
c) Three-fourths of world trade includes services such as telecommunications, transportation, insurance, education, etc
d) World trade will likely exceed $12 trillion in 2010
e) All of the above statements about the dynamics of world trade are true

Ans: d
Feedback: All nations do not participate equally in world trade. Manufactured goods account for 74 percent of world trade, with service industries such as telecommunications, transportation, etc. accounting for 26%. World trade will likely exceed $12 trillion in 2010.
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5. The use of barter rather than money in making global sales is called __________.
a) predatory pricing
b) a countertrade
c) cross-cultural trade
d) economic adaptation
e) trade feedback

Ans: b
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6. The Tahitian pearl market might never have existed were it not for Salvador Assael, "pearl king" of the South Seas. Assael got into the pearl business at the end of World War II. Tahiti had thousands of Swiss watches and suddenly had no GIs to sell them to. Assael observed that the Japanese were desperate for watches but had no cash and that the Japanese still had a pearl industry. So Assael oversaw the swapping of for watches pearls, which were then sold to the Australian and U.S. markets. This international barter is an example of __________.
a) predatory pricing
b) countertrade
c) cross-cultural exchange
d) economic adaptation
e) trade feedback

Ans: b
Feedback: Countertrade is using barter rather than money in making global sales; in this case, exchanging watches for pearls.
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7. Volvo of North America delivered automobiles to the Siberian police force when Siberia had no cash to pay for them. It accepted payment in oil, which it then sold for cash to pay for media advertising in the U.S. This is an example of __________.
a) predatory pricing
b) countertrade
c) cross-cultural exchange
d) economic adaptation
e) Trade feedback

Ans: b
Feedback: Countertrade is using barter rather than money in making global sales; in this case, exchanging police cars for oil.
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8. Recipco and Tradaq are both companies that connect international companies who want to trade the product they make for products they need. Recipco and Tradaq assist international companies in making __________.
a) trading exchanges
b) cross-cultural exchanges
c) countertrades
d) economic adaptations
e) cross-trade feedbacks

Ans: c
Feedback: Countertrade is using barter rather than money in making global sales. Recipco and Tradaq assist companies in trading (or bartering) the product they make for products they need.
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9. McDonnell Douglas sold airplanes in Eastern Europe in exchange for canned hams and tools. This exchange was an example of __________.
a) the gray market
b) countertrade
c) cross-cultural exchange
d) a trading exchange
e) cross-trade feedback

Ans: b
Feedback: Countertrade is using barter rather than money in making global sales; in this case exchanging airplanes for canned hams and tools.
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10. The Malaysian government recently exchanged 20,000 tons of rice for an equivalent amount of Philippine corn. This is an example of __________.
a) the gray market
b) countertrade
c) cross-cultural exchange
d) a trading exchange
e) cross-trade feedback

Ans: b
Feedback: Countertrade is using barter rather than money in making global sales, in this case exchanging rice for corn.
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11. Which of the following statements is true?
a) The U.S. Europe, Canada, China and Japan together account for less than half of world trade
b) The U.S. accounts for 85 percent of world trade
c) World trade only involves the exchange of money for goods or services
d) An estimated 15 to 20 percent of world trade involves countertrade
e) European intratrade is smaller than for any of the other world regions

Ans: d
Feedback: The U.S. Europe, Canada, China and Japan together account for more than 2/3 of world trade. Not all trade involves the exchange of money for goods or services. An estimated 15-20% of world trade involves countertrade. European intratrade is larger than that of either North America or Asia or the rest of the world.
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12. Which of the following statements accurately describes the global perspective on world trade?
a) Exports are of significantly greater importance than imports
b) Imports are of significantly greater importance than exports
c) Imports and exports should be complementary economic flows: imports affecting exports and exports affecting imports
d) The balance of exports and imports should always be kept in a state of equilibrium
e) Imports and exports should be controlled through extensive use of international tariffs and trade regulations

Ans: c
Feedback: A global perspective on world trade views exports and imports as complementary economic flows: a country's imports affect its exports and exports affect its imports.
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13. ___________ is the phenomenon in which a country's imports affect its exports and its exports affect its imports.
a) Symbiotic exchange
b) The trade feedback effect
c) The product exchange loop
d) Balance of trade
e) Trade equity
Ans: b
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14. The trade feedback effect is one argument for __________.
a) decreasing a nation's exports
b) increased tariffs and quotas
c) international trade associations
d) decreasing a nation's imports
e) free trade agreements

Ans: e
Feedback: Increased exports from country A result in increased income which results in increased demand for imports. This demand stimulates exports from country B, increasing its income and creates demand, in turn, for imports. This phenomenon is called the trade feedback effect and is one argument for free trade among nations.
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15. __________ is the monetary value of all goods and services produced in a country during one year.
a) Gross national production
b) National monetary reserve
c) Gross domestic product
d) Annual domestic production
e) Annual production value

Ans: c
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16. The United States is the world's perennial leader in terms of ___________, which is the monetary value of all goods and services produced in a country during one year.
a) balance of payments (BOP)
b) international indebtedness (IID)
c) transfer payment options (TPO)
d) gross domestic product (GDP)
e) national production revenues (NPR)

Ans: d
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17. Which of the following statements about gross domestic product (GDP) is(are) true?
a) Japan is among the world's leaders in imports
b) Japan has consistently achieved trade surpluses over the past 20 years
c) Japan has increased its percentage share of world imports
d) Japan is among the world’s leaders in exports due to its prominence in areas of aerospace, chemical, pharmaceutical and information technology industries
e) All of the above statements about gross domestic product (GDP) are true
Ans: b
Feedback: Japan is the world’s second largest economy in terms of gross domestic product (GDP), which is the monetary value of all goods and services produced in a country during one year. Japan is among the world’s leaders in exports due partly to its prominence in steel and metal products, ships, transport machinery and automobiles, industrial machinery, scientific and optical equipment, chemicals, and electronics. Japan has consistently achieved trade surpluses over the past 20 years. In its financial year 2007, exports were US$678.1 billion and imports were US$573.3 billion, resulting in a trade surplus of US$104.8 billion.
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18. Which of the following statements about gross domestic product (GDP) is(are) true?
a) China is the world's leader in terms of GDP (gross domestic product)
b) Japan is among the world's leaders in exports
c) Japan has experienced a trade deficit of US$79.9 billion in 2007
d) Japan’s relative role as an exporter has decreased especially in areas of steel

and metal products, ships, transport machinery and automobiles and industrial machinery 

e) All of the above statements about gross domestic product (GDP) are true

Ans: b
Feedback: Japan is the world’s second largest economy in terms of gross domestic product (GDP), which is the monetary value of all goods and services produced in a country during one year. Japan is among the world’s leaders in exports due partly to its prominence in steel and metal products, ships, transport machinery and automobiles, industrial machinery, scientific and optical equipment, chemicals, and electronics. Japan has consistently achieved trade surpluses over the past 20 years. In its financial year 2007, exports were US$678.1 billion and imports were US$573.3 billion, resulting in a trade surplus of US$104.8 billion.
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19. Which of the following statements about gross domestic product (GDP) is(are) true?
a) Japan is the world’s second largest economy in terms of GDP (gross domestic product)
b) China, with a GDP estimated at US$2.6 trillion, is poised to overtake Germany to become the world’s third largest economy
c) Japan is running a continuing trade surplus, because of being among the world’s leaders in exports 
d) Japan is among the world’s leaders in exports due to prominence in steel and metal products, ships, transport machinery and automobiles and industrial machinery 
e) All of the above statements about gross domestic product (GDP) are true

Ans: e
Feedback: Japan is the world’s second largest economy in terms of gross domestic product (GDP), which is the monetary value of all goods and services produced in a country during one year. Japan is among the world’s leaders in exports due partly to its prominence in steel and metal products, ships, transport machinery and automobiles, industrial machinery, scientific and optical equipment, chemicals, and electronics. Japan has consistently achieved trade surpluses over the past 20 years. In its financial year 2007, exports were US$678.1 billion and imports were US$573.3 billion, resulting in a trade surplus of US$104.8 billion.
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20. Which of the following statements about gross domestic product (GDP) is(are) true?
a) India has consistently achieved trade surpluses over the past 20 years
b) Japan is among the world's leaders in exports
c) Japan has experienced a trade deficit of US$79.9 billion in 2007
d) China is the world's leader in terms of GDP (gross domestic product)

e) All of the above statements about gross domestic product (GDP) are true

Ans: b
Feedback: Japan is the world’s second largest economy in terms of gross domestic product (GDP), which is the monetary value of all goods and services produced in a country during one year. Japan is among the world’s leaders in exports due partly to its prominence in steel and metal products, ships, transport machinery and automobiles, industrial machinery, scientific and optical equipment, chemicals, and electronics. Japan has consistently achieved trade surpluses over the past 20 years. In its financial year 2007, exports were US$678.1 billion and imports were US$573.3 billion, resulting in a trade surplus of US$104.8 billion.
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21. Which of the following statements about gross domestic product (GDP) is(are) true?
a) China is the world's leader in terms of GDP (gross domestic product)
b) Japan is among the world's leaders in imports
c) Japan has experienced trade deficits over the past 20 years 
d) Japan is among the world’s leaders in exports due to its prominence in areas of aerospace, chemical, pharmaceutical and information technology industries

e) None of the above statements about gross domestic product (GDP) are true

Ans: e
Feedback: Japan is the world’s second largest economy in terms of gross domestic product (GDP), which is the monetary value of all goods and services produced in a country during one year. Japan is among the world’s leaders in exports due partly to its prominence in steel and metal products, ships, transport machinery and automobiles, industrial machinery, scientific and optical equipment, chemicals, and electronics. Japan has consistently achieved trade surpluses over the past 20 years. In its financial year 2007, exports were US$678.1 billion and imports were US$573.3 billion, resulting in a trade surplus of US$104.8 billion.
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22. The difference between the monetary value of a nation's exports and imports is called its __________.
a) symbiotic trade
b) countertrade
c) reciprocity
d) gross national product
e) balance of trade

Ans: e
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23. The major importers of Japan goods and services are:
a) Western Europe, Middle East, U.S. and East Asia
b) Australia, Western Europe, U.S. and Southeast Asia
c) U.S., Middle East, Western Europe and Eastern Europe
d) Australia, Southeast Asia, Eastern Europe and East Asia
e) U.S., East Asia, Australia and Africa
Ans: a
Feedback: Japan exports mainly to the United States, East and Southeast Asia, Western Europe, and the Middle East.
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24. World trade flows to and from Japan reflect __________ for goods and services among nations and industries.
a) demand and supply interdependencies
b) holistic trade
c) positive and negative synergistic trade
d) a negative currency exchange
e) national supremacy

Ans: a
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25. Which of the following statements best describes the relationship between the imports into Japan and the exports from Japan during the last 20 years?
a) No accurate data has been available on trade imports and exports
b) The volume of imports and exports has consistently decreased
c) Imports into Japan and exports have been about equal, indicating balanced trade
d) Exports have exceeded imports, indicating a continuing trade surplus
e) Imports have exceeded exports, indicating a continuing trade deficit

Ans: d
Feedback: Japan has consistently achieved trade surpluses over the past 20 years. In its financial year 2007, exports were US$678.1 billion and imports were US$573.3 billion, resulting in a trade surplus of US$104.8 billion. 
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26. Which of the following statements best describes the relationship between the imports into Japan and the exports from Japan during the last 20 years?
a) No accurate data has been available on trade imports and exports
b) The volume of imports and exports has consistently decreased
c) Imports into Japan and exports have been about equal, indicating balanced trade
d) Imports have exceeded exports, indicating a continuing trade surplus

e) In its financial year 2007, Japan exports were US$678.1 billion and imports were US$573.3 billion 

Ans: e
Feedback: In its financial year 2007, exports were US$678.1 billion and imports were US$573.3 billion.
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27. The major exporters to Japan are __________.
a) Western Europe, Canada, U.S. and East Asia
b) Australia, Western Europe, U.S. and Southeast Asia
c) U.S., Middle East, Western Europe and Eastern Europe
d) Australia, Southeast Asia, Eastern Europe and East Asia
e) U.S., East Asia, Australia and Africa
Ans: b
Feedback: Japan imports mainly from East and Southeast Asia, the United States, the Middle East, Western Europe, and Australia.
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28. Michael Porter has identified four key elements to explain why some companies and industries succeed globally while others fail. These four elements collectively are called __________.
a) the balance of trade
b) the "diamond" of national competitive advantage
c) the industrial diversity effect
d) the trade feedback effect
e) protectionism

Ans: b
Feedback: Harvard Business School Professor Michael Porter suggests a "diamond" of four elements (factor conditions, related industries, demand conditions and company strategy) to explain a nation's competitive advantage.
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29. Michael Porter has identified four key elements in a nation's competitive advantage. They are demand conditions; related and supporting industries; company strategy, structure and rivalry; and __________.
a) consumer behavior
b) industrial diversity
c) governmental regulation
d) timing
e) factor conditions

Ans: e
Feedback: Harvard Business School Professor Michael Porter suggests a "diamond" of four elements (factor conditions, related industries, demand conditions and company strategy) to explain a nation's competitive advantage.
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30. Michael Porter has identified four key elements in a nation's competitive advantage. They are factor conditions, related and supporting industries; and company strategy, structure and rivalry; and __________.
a) demand conditions
b) consumer behavior
c) industrial diversity
d) governmental regulation
e) timing

Ans: a
Feedback: Harvard Business School Professor Michael Porter suggests a "diamond" of four elements (factor conditions, related industries, demand conditions and company strategy) to explain a nation's competitive advantage.
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31. Michael Porter has identified four key elements in a nation's competitive advantage. They are factor conditions; demand conditions; company strategy, structure and rivalry; and __________.
a) consumer behavior
b) industrial diversity
c) related and supporting industries
d) governmental regulation
e) timing

Ans: c
Feedback: Harvard Business School Professor Michael Porter suggests a "diamond" of four elements (factor conditions, related industries, demand conditions and company strategy) to explain a nation's competitive advantage.
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32. Michael Porter has identified four key elements in a nation's competitive advantage. They are factor conditions; demand conditions; related and supporting industries; and __________.
a) consumer behavior
b) industrial diversity
c) governmental regulation
d) company strategy, structure and rivalry
e) timing

Ans: d
Feedback: Harvard Business School Professor Michael Porter suggests a "diamond" of four elements (factor conditions, related industries, demand conditions and company strategy) to explain a nation's competitive advantage.
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33. A graphical representation of Michael Porter's elements which create a nation's competitive advantage looks like a __________.
a) diamond
b) pyramid
c) square
d) circle or loop
e) three-dimensional cube

Ans: a
Feedback: Figure 7-2 shows Porter's "diamond" of national competitive advantage.
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34. According to Michael Porter's diamond of national competitive advantage, clusters of world-class suppliers that accelerate innovation are reflected in __________.
a) structural conditions
b) demand conditions
c) related and supporting industries
d) competitive conditions
e) factor conditions

Ans: c
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35. Every day, in a third-class carriage of the express train that rolls between Bombay and Ahmadabad, plainly dressed couriers carry precious cargo: diamonds. Rough gems are imported to Bombay from dealers in London, Antwerp, Tel Aviv and New York, taken by these couriers to cutting and polishing centers in Gujarat state and then carried back to Bombay to be reexported to the world. This system, based on trust, secrecy and skilled low-cost labor, has been working for half a century. It has helped make India the world's premier center for diamond cutting and polishing. Nine out of every 10 stones sold in the world pass through India, making diamonds that country's largest export at $6.6 billion a year. This ability to use its skilled labor as a resource is an example of what Michael Porter would term __________.
a) structural conditions
b) demand conditions
c) socio-cultural conditions
d) competitive conditions
e) factor conditions

Ans: e
Feedback: Factor conditions are a nation's ability to turn its natural resources, education and infrastructure into a competitive advantage. In this case the skilled labor of India makes this system work.
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36. The Dutch lead the world in the cut-flower industry because of their research in flower cultivation, packaging and shipping. Using this knowledge as a resource is an example of what Michael Porter would term __________.
a) structural conditions
b) demand conditions
c) socio-cultural conditions
d) competitive conditions
e) factor conditions

Ans: e
Feedback: Factor conditions are a nation's ability to turn its natural resources, education and infrastructure into a competitive advantage. In this case education (the research in flower cultivation, packaging and shipping) is a factor condition.
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37. According to Michael Porter's diamond of national competitive advantage, both the number and sophistication of domestic customers for an industry's product are examples of __________.
a) structural conditions
b) demand conditions
c) socio-cultural conditions
d) competitive conditions
e) factor conditions

Ans: b
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38. Three-quarters of Guatemalans are under 30. About 65 percent of all Guatemalans are indigenous Amerindians of Mayan origin. These __________ would impact the type of international businesses that would be successful in selling in Guatemala.
a) structural conditions
b) demand conditions
c) socio-cultural conditions
d) competitive conditions
e) factor conditions

Ans: b
Feedback: Demand conditions include the number and sophistication of domestic customers for an industry's product. Young Amerindians are the majority of customers in Guatemala.
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39. Austria has been described as "the very heartland of European coffee culture". These "coffee-knowledgeable" Austrians drink 21.5 liters of coffee per person annually. Starbucks wanted to open coffeehouses in Austria and sell Starbucks coffee there. For Starbucks, the Austrian level of coffee-drinking sophistication would be an example of __________.
a) structural conditions
b) demand conditions
c) socio-cultural conditions
d) competitive conditions
e) factor conditions

Ans: b
Feedback: Demand conditions include both the number and sophistication of domestic customers for an industry's product. Austrians are very knowledgeable when it comes to coffee.
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40. Which of the following is an example of a demand condition?
a) Natural resources
b) Existence of supplier clusters
c) Sophistication of consumers
d) Intensity of competition
e) Wage rates

Ans: c
Feedback: Demand conditions include both the number and sophistication of domestic customers for an industry's product.

Page: 179

Learning Objective: 1
41. To become leaders in the world market, countries need related and supporting industries because __________.
a) suppliers can generate revenue for further investment
b) they want to eliminate the need to import materials from other countries
c) clusters of strong suppliers can accelerate innovation
d) most countries still believe strongly in protectionism
e) all of the above

Ans: c
Feedback: Firms and industries seeking leadership in global markets need clusters of world-class suppliers that accelerate innovation.
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42. Which of the following is an example of related and supporting industries?
a) Media exposure of products
b) Existence of supplier clusters
c) Sophistication of consumers
d) Intensity of competition
e) Size of market

Ans: b
Feedback: Firms and industries seeking leadership in global markets need clusters of world-class suppliers that accelerate innovation.
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43. Nine out of every 10 diamonds sold in the world pass through India, making diamonds that country's largest export at $6.6 billion a year. One of the reasons for its success is the nation's 2,500 trading firms, its banks, airlines, customers' offices and courier services that make sure the diamonds are safely delivered. Most of these are members of the diamond-trading bourse in Bombay. According to Michael Porter's theory about national competitive advantage, India's success in the diamond industry is due in part to its __________.
a) company strategy, structure and rivalry
b) absence of competition
c) related and supporting industries
d) factor conditions
e) demand conditions

Ans: c
Feedback: An example of related and supporting industries is the existence of the bourse.
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44. Which of the following statements about Michael Porter's theory about national competitive advantage is true?
a) Clusters of strong suppliers can help accelerate innovation
b) A firm that succeeds in global markets has first succeeded in intense domestic competition
c) A country's natural resources, education and infrastructure can be turned into a competitive advantage
d) The number and sophistication of domestic customers can help a nation's producers become world leaders
e) All of the above statements about Michael Porter's theory about national competitive advantage are true

Ans: e
Feedback: All of the statements about Porter's theory are true and discussed in the section, "Competitive Advantage of Nations".
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45. Which of the following is an element of company strategy, structure and rivalry?
a) Type of companies in an industry
b) Amount of public ownership
c) Amount of private ownership
d) Intensity of competition
e) The number of sophisticated consumers in the market

Ans: d
Feedback: The factors in company strategy, structure and rivalry include the conditions governing the way a nation's businesses are organized and managed, along with the intensity of domestic competition.
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46. The Italian shoe industry has become a world leader because of intense domestic competition among firms such as Bruno Magli and Rossimoda. According to Michael Porter's theory about national competitive advantage, Italy's success in the shoe industry is due in part to its __________.
a) company strategy, structure and rivalry
b) absence of competition
c) related and supporting industries
d) factor conditions
e) demand conditions

Ans: a
Feedback: The factors in company strategy, structure and rivalry include the conditions governing the way a nation's businesses are organized and managed, along with the intensity of domestic competition.
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47. Although there are many factors contributing to the success of major global marketers, a common theme seems to be that they __________.
a) first became involved with a formalized trade organization (such as the EU, NAFTA, etc.)
b) specialized in services rather than consumer goods
c) employed a multi-cultural or multi-national staff
d) first succeeded in intense domestic competition
e) were the largest companies in their industry

Ans: d
Feedback: While the strategies employed by the most successful global competitors have been different in many respects, a common theme has emerged—a firm that succeeds in global markets has first succeeded in intense domestic competition.
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48. Competitive advantage for global firms grows out of __________, innovation and change.
a) location in a highly developed country
b) continuous improvement
c) employment of a multi-cultural or multi-national staff
d) membership in a formalized trade organization
e) company size

Ans: b
Feedback: While the strategies employed by the most successful global competitors have been different in many respects, a common theme has emerged—a firm that succeeds in global markets has first succeeded in intense domestic competition. Competitive advantage for global firms grows out of continuous improvement, innovation and change.
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49. Competitive advantage for global firms grows out of continuous improvement, __________ and change.
a) location in a highly developed country
b) innovation
c) employment of a multi-cultural or multi-national staff
d) membership in a formalized trade organization
e) company size

Ans: b
Feedback: While the strategies employed by the most successful global competitors have been different in many respects, a common theme has emerged—a firm that succeeds in global markets has first succeeded in intense domestic competition. Competitive advantage for global firms grows out of continuous improvement, innovation and change.
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50. Competitive advantage for global firms grows out of continuous improvement, innovation and __________.
a) location in a highly developed country
b) change
c) employment of a multi-cultural or multi-national staff
d) membership in a formalized trade organization
e) company size

Ans: b
Feedback: While the strategies employed by the most successful global competitors have been different in many respects, a common theme has emerged—a firm that succeeds in global markets has first succeeded in intense domestic competition. Competitive advantage for global firms grows out of continuous improvement, innovation and change.
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51. The Economic Espionage Act __________.
a) does not prescribe punishments for anyone caught engaged in economic espionage
b) is routinely enforced by United Nations militia
c) targets espionage activities that are commonplace in the agricultural industry
d) makes the theft of trade secrets by foreign entities a federal crime in the U.S.
e) is accurately described by all of the above

Ans: d
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52. The clandestine collection of trade secrets or proprietary information about competitors is called __________.
a) corporate espionage
b) transnational espionage
c) trade espionage
d) economic espionage
e) electronic espionage

Ans: d
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53. Economic espionage is the clandestine collection of __________ or proprietary information about competitors is called
a) government economic information
b) transnational secrets
c) trade secrets
d) government weapons information
e) banking lists

Ans: c
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54. Economic espionage is the clandestine collection of trade secrets or __________ is called
a) government economic information
b) transnational secrets
c) proprietary information about competitors
d) government weapons information
e) banking lists

Ans: c
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55. Four major trends affecting world trade in the past decade are formal economic integration and free trade among nations, global competition among global companies for global customers, the emergence of networked global marketspace and __________.
a) a gradual decline in economic protectionism by individual countries
b) a significant increase in economic protectionism and a decline in free trade
c) redefined national boundaries and a more aggressive attitude towards initiating international tariffs and quota systems
d) a decrease in most countries' GDPs and a renewal of nationalism
e) an increase in most countries' GDPs coupled with an increased degree of consumer ethnocentrism

Ans: a
Feedback: Global marketing has and continues to be affected by a growing borderless economic world. Four trends in the past decade have significantly influenced the landscape of global marketing: gradual decline of economic protectionism by individual countries, formal economic integration and free trade among nations, global competition among global companies for global customers and development of networked global marketspace.
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56. Four major trends affecting world trade in the past decade are a gradual decline in economic protectionism exercised by individual countries, global competition among global companies for global customers, the emergence of networked global marketspace and __________.
a) an increase in economic protectionism and a decline in free trade
b) redefined national boundaries and a more aggressive attitude towards initiating international tariffs and quota systems
c) formal integration and free trade among nations
d) a decrease in most countries' GDPs and a renewal of nationalism
e) an increase in most countries' GDPs coupled with an increased degree of consumer ethnocentrism

Ans: c
Feedback: Global marketing has and continues to be affected by a growing borderless economic world. Four trends in the past decade have significantly influenced the landscape of global marketing: gradual decline of economic protectionism by individual countries, formal economic integration and free trade among nations, global competition among global companies for global customers and development of networked global marketspace.
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57. Four major trends affecting world trade in the past decade are a gradual decline in economic protectionism exercised by individual countries, formal integration and free trade among nations, the emergence of networked global marketspace and __________.
a) an increase in economic protectionism and a decline in free trade
b) redefined national boundaries and a more aggressive attitude towards initiating international tariffs and quota systems
c) a decrease in most countries' GDPs and a renewal of nationalism
d) global competition among global companies for global customers
e) an increase in most countries' GDPs coupled with an increased degree of consumer ethnocentrism

Ans: d
Feedback: Global marketing has and continues to be affected by a growing borderless economic world. Four trends in the past decade have significantly influenced the landscape of global marketing: gradual decline of economic protectionism by individual countries, formal economic integration and free trade among nations, global competition among global companies for global customers and development of networked global marketspace.
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58. (p. 180) Four major trends affecting world trade in the past decade are a gradual decline in economic protectionism exercised by individual countries, formal integration and free trade among nations, global competition among global companies for global customers and __________.
a) an increase in economic protectionism and a decline free trade
b) redefined national boundaries and a more aggressive attitude towards initiating international tariffs and quota systems
c) a decrease in most countries' GDPs and a renewal of nationalism
d) emergence of networked global marketspace
e) an increase in most countries' GDPs coupled with an increased degree of consumer ethnocentrism

Ans: d
Feedback: Global marketing has and continues to be affected by a growing borderless economic world. Four trends in the past decade have significantly influenced the landscape of global marketing: gradual decline of economic protectionism by individual countries, formal economic integration and free trade among nations, global competition among global companies for global customers and development of networked global marketspace.
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59. The practice of shielding one or more sectors of a country's economy from foreign competition through the use of tariffs or quotas is called __________.
a) the rule of proportional domain
b) proportionality
c) domestic imperialism
d) protectionism
e) blocked competition

Ans: d
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60. According to economists, protectionism __________.
a) protects a nation's political security
b) discourages economic dependency on foreign countries
c) encourages the development of domestic industries
d) limits the outsourcing of domestic jobs
e) does all of the above

Ans: e
Feedback: Protectionism is the practice of shielding one or more sectors of a country's economy from foreign competition through the use of tariffs or quotas. The economic argument for protectionism is that is limits the outsourcing of jobs, protects a nation's political security, discourages economic dependency on other countries and encourages the development of domestic industries.
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61. Beginning January 1, 2005 China lifted the import quotas and lowered tariffs on automobiles. This removal of the quotas and the lowering of tariffs is an example of __________.
a) recalling the rule of protective domain
b) reducing ethnocentrism
c) reducing domestic imperialism
d) reducing protectionism
e) reducing blocked currency

Ans: d
Feedback: Protectionism is the practice of shielding one or more sectors of a country's economy from foreign competition through the use of tariffs or quotas. By removing the quotas and lowering tariffs, China is reducing protectionism of the automobile industry in China.
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62. Those in favor of protectionism would never say that protectionism __________.
a) discourages economic dependency on foreign countries
b) encourages the development of domestic industries
c) protects domestic jobs
d) protects a nation's political security
e) helps reduce tariffs and quotas

Ans: e 

Feedback: Protectionism is the practice of shielding one or more sectors of a country's economy from foreign competition through the use of tariffs or quotas. Alternative E suggests just the opposite.
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63. Recently the Japanese government, under pressure from its farm lobby, slapped government taxes on mushrooms, leeks and the reeds used in tatami mats that were being imported from China. Japan levied __________.
a) GATT taxes
b) quotas
c) tariffs
d) foreign excise taxes
e) exchange subsidies

Ans: c
Feedback: A tariff is a government tax on goods or services entering a country, which serves to raise prices on imports.
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64. A government tax on goods or services entering a country is called a __________.
a) GATT tax
b) quota
c) tariff
d) foreign excise tax
e) farm subsidy

Ans: c
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65. Tariffs serve primarily to __________.
a) encourage foreign trade
b) equalize production capacity
c) raise prices on imports
d) limit the quantity of goods leaving the domestic market
e) provide consumers with the most competitively priced goods

Ans: c
Feedback: Tariffs, which are a government tax on goods or services entering a country, primarily serve to raise prices on imports.
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66. If you wanted to set up a business importing amber from Latvia to the United States, you would have to plan on paying the U.S. Customs Service roughly 20 percent of the value of the product as a __________.
a) bribe
b) tariff
c) subsidy fee
d) revenue
e) quota

Ans: b
Feedback: Tariffs, which are a government tax on goods or services entering a country, primarily serve to raise prices on imports.
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67. President Bill Clinton attempted to protect American firms from foreign competition by placing a government tax on Japanese automobiles imported to the United States. President Clinton's goal was to raise the price on Japanese imports, thereby encouraging American consumers to purchase American-made automobiles. The tax the President threatened to impose is an example of a(n) __________.
a) boycott
b) tariff
c) quota
d) sanction
e) exchange subsidy

Ans: b
Feedback: Protectionism is the attempt to protect or shield certain sectors of a country's economy from international competition through the use of tariffs or quotas. Tariffs are government-imposed taxes on goods or service being imported to a country. Tariffs are designed to raise the price of the imported product in comparison to domestic products.
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68. The orange box in Figure 7-3 should read __________.
a) "Increase world trade"
b) "Decrease world trade"
c) "Limit exports"
d) "Limit imports"
e) "Doubles protectionism"

Ans: b
Feedback: Protectionism hinders world trade through tariff and quota policies of individual countries. Tariffs increase prices and quotas limit supply.
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69. __________ imposed on bananas by European Union countries cost consumers $2 billion a year in higher prices.
a) Boycotts
b) Tariffs
c) Quotas
d) Sanctions
e) Exchange subsidies

Ans: b
Feedback: Protectionism is the attempt to protect or shield certain sectors of a country's economy from international competition through the use of tariffs or quotas. Tariffs are government-imposed taxes on goods or service being imported to a country. Tariffs are designed to raise the price of the imported product in comparison to domestic products.
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70. The U.S. Rice Millers' Association claims that if the Japanese rice market were opened to imports by lowering __________, lower prices would save Japanese consumers $6 billion annually and the U.S. would gain a large share of the Japanese rice market.
a) boycotts
b) tariffs
c) quotas
d) sanctions
e) exchange subsidies

Ans: b
Feedback: There are claims that if the Japanese rice market were opened to imports by lowering tariffs, lower prices would save Japanese consumers US$6 billion annually, and the United States and other rice-exporting nations would gain a large share of the Japanese rice market.
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71. A quota is __________.
a) a government tax on goods or services entering a country
b) a government tax on goods or services leaving a country
c) a restriction placed on the amount of a product allowed to enter or leave a country
d) the minimum quantity of goods foreign manufacturers must produce in order to keep prices competitive
e) a limit on the number of foreign manufacturers from any single country allowed to compete in domestic markets

Ans: c
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72. A restriction placed on the amount of a product allowed to enter or leave a country is called a __________.
a) GATT tax
b) restrictive tax
c) tariff
d) foreign excise tax
e) quota

Ans: e
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73. The Chinese textile industry issued a statement recently, opposing a U.S. government agency's acceptance of an industry appeal to limit imports of Chinese fabric products. In other words, the U.S. government will limit the amount of Chinese fabric that can be imported into the U.S. This is an example of a(n) __________.
a) GATT tax
b) restrictive tax
c) tariff
d) foreign excise tax
e) quota

Ans: e
Feedback: A quota is a restriction placed on the amount of a product allowed to enter or leave a country.
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74. Which of the following issues raises a question about the ethics of protectionism?
a) Competitive advantage grows out of continuous improvement
b) Small firms succeed in foreign niche markets
c) Tariffs have declined from an average of 40 percent to less than 5 percent
d) Regional trade agreements provide preferential treatment for member nations
e) Pan-European marketing strategies are possible due to greater uniformity in packaging standards

Ans: d
Feedback: Protectionism, in its many forms, raises an interesting global ethical question. is protectionism, no matter how applied, an ethical practice? Of the statements above, the possibility of preferential treatment (Alternative d) is most likely to suggest an ethical consideration.
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75. The world's largest manufacturer of peppermint candy canes was in Albany, Georgia, until it could no longer afford to buy the sugar needed for its operation. It moved its manufacturing business to Mexico where there are no restrictions (as existed in the U.S.) on the amount of sugar that can be brought into the nation. The movement of this U.S. business to Mexico was caused by a(n) __________ established by the U.S. government.
a) tariff
b) restrictive tax
c) quota
d) excise tax
e) exchange subsidy

Ans: c
Feedback: A quota is a restriction placed on the amount of a product allowed to enter or leave a country, which in this case, caused domestically grown sugar to be priced higher than sugar on the world market.
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76. The __________ is an international treaty intended to limit trade barriers and promote world trade through the reduction of tariffs.
a) North Atlantic Treaty Organization (NATO)
b) General Agreement on Tariffs and Trade (GATT)
c) North American Free Trade Agreement (NAFTA
d) Restraint of Trade Treaty (ROTT)
e) Great Oceanic Treaty on Trade (GOTT)

Ans: b
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77. The primary function of the General Agreement on Tariffs and Trade (GATT) has been to limit trade barriers and promote world trade through the __________.
a) establishment of an international Board of Commerce
b) explicit assessing of non-tariff trade barriers of services
c) reduction of tariffs
d) equalization of international quotas on manufactured goods
e) complete removal of prejudicial international pricing policies

Ans: c
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78. Every country engages in some form of protectionism. However, protectionism has declined internationally over the past 50 years due in large part to the __________.
a) Balance of Trade Agreement (BOTA)
b) International Trade Feedback Act (ITFA)
c) General Agreement on Tariffs and Trade (GATT)
d) Gross Domestic Product Agreement (GDPA)
e) Cross-Cultural Trade Act (CCTA)

Ans: c
Feedback: Protectionism has declined over the past 50 years due in large part to the General Agreement on Tariffs and Trade (GATT).
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79. The __________ is a permanent institution that sets rules governing trade between its members through a panel of trade experts who decide on trade disputes between members and issue binding decisions.
a) World Health Organization
b) World Trade Organization
c) International Cooperation Organization
d) League of Nations
e) Global Better Business Bureau

Ans: b
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80. Which of the following statements about the World Trade Organization (WTO) is true?
a) The World Trade organization is a temporary group that meets on an as needed basis
b) The 150 member countries of the WTO account for only 25% of world trade
c) The WTO sets rules governing trade between its members and the remainder of the world
d) The WTO uses panels of trade experts who can issue binding decisions
e) The WTO was formed by the United Nations

Ans: d
Feedback: The major industrialized nations of the world formed the WTO in 1995 to address world trade issues. The 150 member countries account for more than 90% of world trade. The WTO is a permanent institution that sets rules governing trade between its members through panels of trade experts who decide on trade disputes between members and issue binding decisions. The WTO reviews more than 200 disputes annually.

Page: 181

Learning Objective: 2
81. Which of the following statements about the World Trade Organization (WTO) is true?
a) The World Trade organization is a permanent institution
b) The 150 member countries of the WTO account for only 25% of world trade
c) The WTO sets rules governing trade between its members and the remainder of the world
d) The WTO uses panels of trade experts who can issue recommendations
e) The WTO was formed by the United Nations

Ans: a
Feedback: The major industrialized nations of the world formed the WTO in 1995 to address world trade issues. The 150 member countries account for more than 90% of world trade. The WTO is a permanent institution that sets rules governing trade between its members through panels of trade experts who decide on trade disputes between members and issue binding decisions. The WTO reviews more than 200 disputes annually.
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82. Which of the following statements about the World Trade Organization (WTO) is true?
a) The World Trade organization is a temporary institution
b) The 150 member countries of the WTO account for more than 90 percent of world trade
c) The WTO sets rules governing trade between its members and the remainder of the world
d) The WTO uses panels of trade experts who can issue recommendations
e) The WTO was formed by the United Nations

Ans: b
Feedback: The major industrialized nations of the world formed the WTO in 1995 to address world trade issues. The 150 member countries account for more than 90% of world trade. The WTO is a permanent institution that sets rules governing trade between its members through panels of trade experts who decide on trade disputes between members and issue binding decisions. The WTO reviews more than 200 disputes annually.
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83. Which of the following statements about the World Trade Organization (WTO) is true?
a) The World Trade organization is a temporary institution
b) The 150 member countries of the WTO account for less than 25 percent of world trade
c) The WTO sets rules governing trade among its members
d) The WTO uses panels of trade experts who can issue recommendations
e) The WTO was formed by the United Nations

Ans: c
Feedback: The major industrialized nations of the world formed the WTO in 1995 to address world trade issues. The 150 member countries account for more than 90% of world trade. The WTO is a permanent institution that sets rules governing trade between its members through panels of trade experts who decide on trade disputes between members and issue binding decisions. The WTO reviews more than 200 disputes annually.
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84. Which of the following statements about the World Trade Organization (WTO) is true?
a) The World Trade organization is a temporary institution
b) The 150 member countries of the WTO account for less than 25 percent of world trade
c) The WTO sets rules governing trade between its members and the rest of the world
d) The WTO uses panels of trade experts who can issue recommendations
e) The WTO was formed by the major industrialized nations of the world

Ans: e
Feedback: The major industrialized nations of the world formed the WTO in 1995 to address world trade issues. The 150 member countries account for more than 90% of world trade. The WTO is a permanent institution that sets rules governing trade between its members through panels of trade experts who decide on trade disputes between members and issue binding decisions. The WTO reviews more than 200 disputes annually.
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85. Refer to Figure 7-4. As of 2007, which of the following countries is NOT a part of the EU?
a) Spain, France and Italy
b) Estonia, Latvia and Lithuania
c) Norway, Russia and Switzerland
d) Malta, Cyprus and Greece
e) All of the above belong to the EU

Ans: c
Feedback: The European Union consists of 27 member countries that have eliminated most barriers to the free flow of goods, services, capital and labor across their borders. The countries that are not member states as of 2007 include Norway, Russia and Switzerland.
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86. Refer to Figure 7-4. As of 2007, which of the following countries is NOT a part of the EU?
a) Spain, France and Italy
b) Estonia, Latvia and Lithuania
c) Turkey, Bulgaria and Russia
d) Malta, Cyprus and Greece
e) All of the above belong to the EU

Ans: c
Feedback: The European Union consists of 27 member countries that have eliminated most barriers to the free flow of goods, services, capital and labor across their borders. The countries that are not member states as of 2007 include Turkey, Bulgaria and Russia.
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87. The __________ consists of twenty-seven countries that have eliminated most of the barriers to the free flow of goods, services, capital and labor across their borders.
a) North American Free Trade Association
b) European Union
c) Latin American Free Trade Organization
d) Commonwealth of Independent States
e) Association of Pacific Rim Countries

Ans: b
Feedback: The European Union is an example of countries with similar economic goals forming a transnational trade group. This single market houses more than 500 million consumers with a GDP larger than that of the U.S.
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88. The EU has benefited its member nations by providing __________.
a) the free flow of goods, services, capital and labor across borders within the EU
b) abundant marketing opportunities because it is no longer necessary to market products and services on a nation-by-nation basis
c) European-wide distribution from fewer locations, given open borders
d) issuance of a common currency, the euro, replacing 12 national currencies
e) all of the above

Ans: e
Feedback: Each of the statements in a, b, c and d are benefits of the EU trade agreement.
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89. Adoption of the euro has been a boon to e-commerce in the EU because __________.
a) the need to monitor currency exchange rates has been eliminated
b) the adoption of the euro makes it easier to engage in e-commerce since it is necessary to market products and services on a nation-by-nation basis
c) of the greater number of European-wide distribution centers
d) prices have increased, thus increasing profits to EU manufacturers
e) all of the above

Ans: a
Feedback: Adoption of the euro has been a boon to e-commerce in the EU by eliminating the need to continually monitor currency exchange rates.
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90. The North American Free Trade Agreement was designed to encourage free trade between __________.
a) North America, Central America and South America
b) the United States, Canada and Mexico
c) the United States and the European Union
d) member countries originally from NATO (North Atlantic Treaty Organization)
e) North America and The Commonwealth of Independent States

Ans: b
Feedback: The North American Free Trade Agreement lifted many trade barriers between Canada, Mexico and the United States and created a marketplace with more than 450 million consumers.
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91. What is the name of the international agreement that lifted many trade barriers between the United States, Canada and Mexico?
a) The El Paso/Juarez Pact
b) The U.S.-Canada Fair Trade Agreement
c) The Multinational Corporation Accord
d) The North American Free Trade Agreement
e) The American Free Trade Agreement

Ans: d
Feedback: The North American Free Trade Agreement promoted relatively free trade among the United States, Canada and Mexico.
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92. ASEAN Free Trade Area includes which of the following countries?
a) Singapore
b) China
c) S. Korea
d) Japan
e) India

Ans: a
Feedback: The Association of South East Asian Nations (ASEAN) Free Trade Area consists of ten ASEAN nations of Brunei, Cambodia, Indonesia, Laos, Malaysia, Myanmar, Philippines, Singapore, Thailand, and Vietnam. 
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93. ASEAN Free Trade Area is a comprehensive free trade agreement among which of the following countries?
a) China, Laos and Malaysia
b) Cambodia, Vietnam and Myanmar
c) Philippines, Vietnam and Japan
d) India, Nepal and Maldives 

e) Japan, Thailand and Singapore

Ans: b
Feedback: The Association of South East Asian Nations (ASEAN) Free Trade Area consists of ten ASEAN nations of Brunei, Cambodia, Indonesia, Laos, Malaysia, Myanmar, Philippines, Singapore, Thailand, and Vietnam. 
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94. Which of the following is true of Asian Free Trade agreements?
a) Efforts to liberalize trade in East Asia are growing
b) These trade agreements are less formal than those underlying the EU
c) These trade agreements have promoted trade between East Asian countries
d) These trade agreements have reduced tariffs between East Asian countries
e) All of the above are true

Ans: e
Feedback: Efforts to liberalize trade in East Asia are growing. Although the trade agreements are less formal than those underlying the EU and NAFTA, they have reduced tariffs among countries and promoted trade.
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95. Which of the following is true of Asian Free Trade agreements?
a) Efforts to liberalize trade in East Asia are shrinking
b) These trade agreements are less formal than those underlying the EU
c) These trade agreements have reduced trade between East Asian countries
d) These trade agreements have increased tariffs between East Asian countries
e) All of the above are true

Ans: b
Feedback: Efforts to liberalize trade in East Asia are growing. Although the trade agreements are less formal than those underlying the EU and NAFTA, they have reduced tariffs among countries and promoted trade.
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96. Which of the following is true of Asian Free Trade agreements?
a) Efforts to liberalize trade in East Asia are growing
b) These trade agreements are more formal than those underlying the EU
c) These trade agreements have reduced trade between East Asian countries
d) These trade agreements have increased tariffs between East Asian countries
e) All of the above are true

Ans: a
Feedback: Efforts to liberalize trade in East Asia are growing. Although the trade agreements are less formal than those underlying the EU and NAFTA, they have reduced tariffs among countries and promoted trade.
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97. Which of the following is true of Asian Free Trade agreements?
a) Efforts to liberalize trade in East Asia are shrinking
b) These trade agreements are more formal than those underlying the EU
c) These trade agreements have promoted trade between East Asian countries
d) These trade agreements have increased tariffs between East Asian countries
e) All of the above are true

Ans: c
Feedback: Efforts to liberalize trade in East Asia are growing. Although the trade agreements are less formal than those underlying the EU and NAFTA, they have reduced tariffs among countries and promoted trade.
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98. Which of the following is true of Asian Free Trade agreements?
a) Efforts to liberalize trade in East Asia are shrinking
b) These trade agreements are more formal than those underlying the EU
c) These trade agreements have reduced trade between East Asian countries
d) These trade agreements have reduced tariffs between East Asian countries
e) All of the above are true

Ans: d
Feedback: Efforts to liberalize trade in East Asia are growing. Although the trade agreements are less formal than those underlying the EU and NAFTA, they have reduced tariffs among countries and promoted trade.
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99. __________ exists when firms originate, produce and market their products and services worldwide.
a) Global competition
b) Global collaboration
c) Transactional exchange
d) Internationalization
e) Acculturation

Ans: a
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100. Which of the following statements about global competition is true?
a) Aerospace, apparel and pharmaceutical industries engage in global competition
b) Global competition broadens the competitive landscape for marketers
c) Collaborative relationships are important in global competition
d) Strategic alliances are used to create customer value creation in global competition
e) All of the above are true of global competition

Ans: e
Feedback: The pharmaceutical, apparel and aerospace fields represent well-known industries with sellers and buyers on every continent. Global competition broadens the competitive landscape for marketers. Collaborative relationships are also becoming a common way to meet the demands of global competition. Global strategic alliances are agreements among two or more independent firms to cooperate for the purpose of achieving common goals.
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101. Collaborative relationships are becoming a common way to meet the demands of global competition. Global __________ are agreements between two or more independent firms to cooperate for the purpose of achieving common goals such as a competitive advantage or customer value creation.
a) monopolies
b) oligopolies
c) collaborative treaties
d) strategic alliances
e) independent agreements

Ans: d
Page: 184

Learning Objective: 2
102. Two carmakers have developed a strange but successful partnership. Ford, a U.S. automaker and Mazda, an Asian carmaker, have collaborated on several models, including the Explorer, the Probe and the Mazda 323 and the Mazda MX-6. The U.S. automaker has supplied Mazda with help in marketing, finance and styling. In return, Mazda has provided manufacturing and product development expertise with Ford. Both companies have worked together toward a common goal and both have benefited as a result of their __________.
a) international contract
b) international competitive agreement
c) strategic alliance
d) collaborative treaty
e) global oligopoly

Ans: c
Feedback: A strategic alliance is a cooperative venture between two or more independent firms. The organizations work together to achieve common goals such as gaining competitive advantage or creating customer value.
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103. General Mills and Nestlé of Switzerland created Cereal Partners Worldwide to fine-tune Nestlé's European cereal marketing and distribute General Mills cereals worldwide. General Mills and Nestlé are participating in a(n) __________.
a) international competition
b) tactical relationship
c) functional co-design
d) co-branding strategy
e) strategic alliance

Ans: e
Feedback: A strategic alliance is a cooperative venture between two or more independent firms. The organizations work together to achieve common goals such as gaining competitive advantage or creating customer value.
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104. Three types of companies populate and compete in the global marketplace: international firms, multinational firms and __________ firms.
a) culturally diverse
b) transnational
c) polycentric
d) ethnocentric
e) decentralized

Ans: b
Feedback: An international firm engages in trade as an extension of the marketing strategy in its home country; a multinational firm markets to each part of the world differently; and a transnational firm emphasizes cultural similarities across countries.
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105. A(n) __________ firm engages in trade and marketing in different countries as an extension of the marketing strategy in its home country.
a) polycentric
b) foreign expansion
c) international
d) multinational
e) transnational

Ans: c
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106. A firm that views the world as consisting of unique parts and markets to each part differently is called a(n) __________.
a) economic expansion firm
b) foreign expansion firm
c) international firm
d) multinational firm
e) transnational firm

Ans: d
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107. A(n) __________ firm views the world as one market and emphasizes cultural similarities across countries or universal consumer needs and wants more than differences.
a) polycentric
b) foreign expansion
c) international
d) multinational
e) transnational

Ans: e
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108. Mars, America's second-biggest candy company, began doing business in Russia in the late 1980s. The Snickers bar is one of the top selling candies in Russia and is marketed in much the same way as it is in the United States. Mars is most likely a(n) __________ firm.
a) international
b) polycentric
c) transnational
d) multidomestic
e) multinational

Ans: a
Feedback: International firms engage in trade and marketing in different countries as an extension of the marketing strategy in its home country.
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109. Companies that use a(n) ___________ marketing strategy have as many different product variations, brand names and advertising programs as countries in which they do business.
a) ethnocentric
b) multidomestic
c) transnational
d) polycentric
e) international

Ans: b
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110. U.S. appliance manufacturers find that different customs about shopping must be used to determine product design. For instance, people in Northern Europe shop only once a week, so they need bigger refrigerators than Southern Europeans who shop daily. Furthermore, Northern Europeans insist that freezers should be on the top just as loudly as Southern Europeans insist that freezers should be on the bottom. Other regions use their appliances differently and have other different product demands. Given this information, you should conclude U.S. appliance manufacturers would be more likely successful if they used a(n) __________ marketing strategy.
a) ethnocentric
b) multidomestic
c) transnational
d) polycentric
e) international

Ans: b
Feedback: Companies that use a multidomestic marketing strategy have as many different product variations as countries in which they do business.
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111. Lever Europe, a division of Unilever, markets its fabric softener known as Snuggle in the United States in 10 European countries under seven brand names, including Kuschelweich in German, Coccolino in Italy and Mimosin in France. These products have different packages, different advertising programs and occasionally different formulas. From this information we can assume that Lever Europe is a(n) __________ company.
a) ethnocentric
b) multidomestic
c) transnational
d) polycentric
e) international

Ans: b
Feedback: Companies that use a multidomestic marketing strategy have as many different product variations as countries in which they do business.
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112. The practice of standardizing marketing activities when cultural similarities exist and adapting them when cultures differ is called a __________ marketing strategy.
a) global
b) multidomestic
c) transnational
d) polycentric
e) international

Ans: a
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113. Theodore Levitt wrote a book titled The Marketing Imagination. In the book, Levitt argues that consumers the world over are becoming very similar in their wants and behaviors. Levitt asserts marketers should standardize their marketing strategies and activities in order to benefit from economies of scale. Levitt is encouraging marketers to adopt a(n) __________ marketing strategy.
a) global
b) multinational
c) multidomestic
d) customized
e) international

Ans: a
Feedback: A global marketing strategy is the practice of standardizing marketing activities when there are cultural similarities and adapting them when cultures differ. Levitt encourages marketers to standardize their marketing activities in order maximize efficiency—in other words, to adopt a global marketing strategy.

Page: 184

Learning Objective: 2
114. Which of the following types of firms would be most likely to use a global marketing strategy?
a) Multidomestic
b) Multinational
c) Multicountry
d) Transnational
e) Transborder

Ans: d
Feedback: Transnational marketers employ a global marketing strategy—the practice of standardizing marketing activities when there are cultural similarities and adapting them when cultures differ.
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115. Thirteen to nineteen year olds in Europe, North and South America and the industrialized nations of Asia __________.
a) are more similar than different regarding their purchase behavior
b) are becoming more similar but are still very different especially regarding fashion and culture
c) are rebelling against the Americanization of fashion and culture
d) have some very different appreciation of fashions and music
e) are more and more influenced by Asian culture

Ans: a
Feedback: The similarity among teens in Europe, North and South America and the industrialized nations of Asia are greater than their differences. A global study of middle-class teenagers' rooms in 25 industrialized countries indicated it was difficult, if not impossible, to tell where in the world the rooms are located.
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116. When asked what country had the most influence on their attitudes and purchase behavior, 87 percent of those from Latin America said __________.
a) Mexico
b) the U.S.
c) France
d) Spain
e) all European countries

Ans: b
Feedback: When asked what country had the most influence on their attitudes and purchase behavior, 54 percent of teens from the U.S., 87 percent of those from Latin America, 80 percent of the Europeans and 80 percent of those from Asia named the U.S.
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117. Products marketed under the same name in multiple countries with similar and centrally coordinated marketing programs are called __________.
a) multidomestic product categories
b) global brands
c) international brands
d) multinational brands
e) transnational brands

Ans: b
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118. Which of the following statements about global brands is true?
a) A global brand is marketed under the same name in multiple countries
b) A global brand has a centrally coordinated marketing program
c) A global brand has the same product formulation or service concept across countries
d) A global brand delivers the same benefits to customers
e) All of the above statements are true

Ans: e
Feedback: A global brand is a brand marketed under the same name in multiple countries with similar and centrally coordinated marketing programs. Global brands have the same product formulation or service concept, deliver the same benefits to consumers and use consistent advertising across multiple countries and cultures. Global brands are sometimes tailored to specific cultures or countries.
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119. Customer groups living in many countries or regions of the world that have similar needs or seek similar features and benefits from products or services are called __________ consumers.
a) multidomestic
b) global
c) international
d) multinational
e) transnational

Ans: b
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120Which of the following statements about the emergence of a networked global marketspace is true?
a) The chief advantage of the global marketspace over the traditional bricks-and-mortar stores for customers is the ability to shop anywhere, at any time and at the lower cost
b) More business-to-consumer marketing is done on the Internet than business-to-business marketing
c) The most active participants in the networked global marketspace are companies in developing nations
d) All business in the networked global marketspace is conducted in English
e) All of the above statements about the emergence of a networked global marketspace are true

Ans: a
Feedback: Significantly more business-to-business marketing is done on the Internet than business-to-consumer marketing. The most active participants in the networked global marketspace are from the United States, the United Kingdom, Germany, Sweden, Japan, Taiwan, China and Canada. Nestle has used the networked global marketspace to create 65 individual country websites in more than 20 languages that span five continents.
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121. The process that involves the study of similarities and differences among consumers in two or more nations or societies is called __________.
a) international attitude evaluation
b) multigraphic societal scanning
c) polyphasic anthropology
d) cross-cultural analysis
e) transnational anthropology

Ans: d
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122. Personally or socially preferable modes of conduct or states of existence that tend to persist over time are called __________.
a) customs
b) ethics
c) values
d) culture
e) beliefs

Ans: c
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123. McDonald's does not sell beef hamburgers in its restaurants in India because the cow is considered sacred by almost 85% of the population. Instead McDonald's sells the McMaharajah made with mutton. McDonald's respects Indian __________ by not selling beef in India.
a) values
b) cultural ethnocentrism
c) ethics
d) beliefs
e) cognitive attitudes

Ans: a
Feedback: A country's values are personally or socially preferable modes of conduct or states of existence that are enduring. This would include the value that cows are considered sacred by most of the population.
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124. The reverence that Japan shows towards its elderly is an example of the nation's __________.
a) values
b) beliefs
c) customs
d) religion
e) cultural ethnocentrism

Ans: a
Feedback: A country's values are personally or socially preferable modes of conduct or states of existence that are enduring. This would include the behavior of one generation toward another.
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125. Almost all countries have some division of social class. The determinant factor for assigning these classes may differ from country to country. For example, in the United States the primary determinant factor for assigning social class is occupation, in India it is birthright, in China it is geographical region and education and in Singapore it is income. These differences are best explained in terms of a country's __________.
a) cultural ethnocentrism
b) beliefs
c) customs
d) religion
e) values

Ans: e
Feedback: A country's values are personally or socially preferable modes of conduct or states of existence that are enduring.
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126. Which of the following examples demonstrates a company's appreciation of another country's values?
a) American companies in Germany encourage the use of all types of credit cards
b) In Brazil, American companies are extremely careful to keep to a strict agenda and time schedule
c) In Japan, Procter & Gamble advertises its bath products by portraying intimate scenarios between husbands and wives
d) McDonald's restaurants in India serve a full line of products except for hamburgers made from beef
e) None of the above examples demonstrate a company's appreciation of another country's values

Ans: d
Feedback: In terms of cultural values, Germans are not comfortable with using unnecessary credit, South American countries are more comfortable with a more personalized informal structure and Japanese men and women are more considerate of personal privacy. Since 85 percent of the Indian population considers the cow to be sacred, McDonald's is showing consideration for the country's values by not selling beef.
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127. __________ are what is considered normal and expected about the way people do things in a specific country.
a) Morals
b) Ethics
c) Values
d) Customs
e) Beliefs

Ans: d
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128. 3M Company executives were perplexed when the company's Scotch-Brite floor-cleaning product initially produced lukewarm sales in the Philippines. A Filipino employee explained that consumers generally clean floors by pushing coconut shells around with their feet. 3M changed the shape of the pad to a foot and sales soared. 3M changed its product in response to a Filipino __________.
a) idiosyncrasy
b) ethic
c) demographic pattern
d) custom
e) belief

Ans: d
Feedback: Customs are the norms and expectations about the way people do things in a specific country. Since consumers in the Philippines clean floors with their feet, 3M adapted the shape of its floor-cleaning product to the custom.
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129. KFC in Japan sells tempura crispy strips. In northern England, it stresses gravy and potatoes, while in Thailand it offers fresh rice. In Holland instead of potatoes, KFC offers customers a potato and onion croquette. In France, KFC sells pastries alongside its chicken. These examples illustrate that KFC exhibits an understanding of and appreciation for the __________ of other societies.
a) demographics
b) symbols
c) customs
d) sensitivities
e) selective perception

Ans: c
Feedback: Customs are what is considered normal and expected about the way people do things (including what they eat) in a specific country. KFC serves food that suits the tastes of its target markets in each of the countries listed.
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130. The fact that American women use more cosmetics than American men while French men use twice as many cosmetics as French women is an example of differences in the nations' __________.
a) social classes
b) ethics
c) values
d) customs
e) beliefs

Ans: d
Feedback: Customs are the norms and expectations about the way people do things in a specific country.
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131. The Foreign Corrupt Practices Act __________.
a) makes the money paid in bribes tax deductible
b) only regulates the behavior of U.S. businesses conducting business in the U.S.
c) makes the theft of trade secrets by foreign entities a federal crime in the U.S.
d) is a unilateral agreement the U.S. made with several developing nations
e) makes it a crime for U.S. corporations to bribe an official of a foreign government or political party to obtain or retain business in a foreign country

Ans: e
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132. Which of the following statements about bribery is true?
a) Bribes, kickbacks and payoffs offered to entice someone to commit an illegal or improper act is corrupt in any culture
b) The world's major exporting nations have agreed to make bribery of foreign government officials a criminal offense
c) Bribery paid to foreign companies is a tax-deductible expense in France and Greece
d) It is a crime for U.S. corporations to bribe an official of a foreign government or political party to obtain business in a foreign country
e) All of the above are true

Ans: e
Feedback: Bribes, kickbacks and payoffs offered to entice someone to commit an illegal or improper act on behalf of the giver for economic gain is considered corrupt in any culture. The prevalence of bribery in global marketing has led to an agreement among the world's major exporting nations to make bribery of foreign government officials a criminal offense. It is illegal for a U.S. corporation to bribe an official of a foreign government or political party to obtain or retain business in a foreign country. Bribery paid to foreign companies in France and Greece is a tax-deductible expense.
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133. Cultural symbols are things that __________.
a) can be protected by international copyrights
b) cannot be expressed by words or characters
c) represent values that exist solely within a nation's boundaries
d) represent ideas and concepts
e) consist of pictures or designs that represent ideas and concepts that are considered to be universal

Ans: d
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134. __________ represent ideas and concepts to which different cultures often attach different meanings.
a) Con symbols
b) Symbolic concepts
c) Ideological representations
d) Cultural representations
e) Cultural symbols

Ans: e
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135. By adroitly using __________, global marketers can tie positive symbolism to their products, services and brands to enhance their attractiveness to consumers.
a) cultural symbols
b) values
c) ethics
d) morals
e) religious beliefs

Ans: a
Feedback: Cultural symbols are things that represent ideas and concepts. By adroitly using cultural symbols, global marketers can tie positive symbolism to their products, services and brands to enhance their attractiveness to consumers.
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136. Tiffany & Company knows that Japanese are superstitious about the number 4. As a result, Tiffany sells its fine glassware and china in sets of five, not four, in Japan. Tiffany has used its knowledge of __________ to avoid connecting its products with the number 4.
a) cultural symbols
b) values
c) ethics
d) morals
e) religious beliefs

Ans: a
Feedback: The Japanese are superstitious about the number 4 so to avoid a connection to this cultural symbol, Tiffany sells its products in sets of five, not four.
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137. The field of study that examines the correspondence between symbols and their role in the assignment of meaning for people is called __________.
a) cross-cultural analysis
b) symbiotics
c) back translation
d) symbolic linguistics
e) semiotics

Ans: e
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138. Someone who wanted to study the fact that in some nations black is a sign of mourning while in other nations white is a sign of mourning would be studying __________.
a) semiotics
b) semantics
c) serendipodics
d) semaphorics
e) sophomorics

Ans: a
Feedback: So important is the role of symbols that a field of study, called semiotics, has emerged that examines the correspondence between symbols and their role in the assignment of meaning for people. The colors black and white are symbols with different meanings in different cultures.
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139. Germans are typically not a good market for credit cards because they have a strong dislike for debt. Their dislike for debt is so engrained that they use the same word for debt and for guilt. In other countries, the number of credit cards a person has is a sign of their success. A study of what meanings nations assign to credit cards would be called __________.
a) cross-cultural analysis
b) symbiotics
c) back translation
d) symbolic linguistics
e) semiotics

Ans: e
Feedback: So important is the role of symbols that a field of study, called semiotics, has emerged that examines the correspondence between symbols (the credit cards) and their role in the assignment of meaning for people.
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140. Even though there are hundreds of different languages and dialects, the three major languages used in global diplomacy and commerce are __________.
a) English, Japanese and German
b) English, French and Spanish
c) Japanese, Spanish and French
d) Japanese, Spanish and English
e) Spanish, English and German

Ans: b
Feedback: English, French and Spanish are the principal languages used in global diplomacy and commerce. However, the best language in which to communicate with consumers is their own.
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141. Back translation is __________.
a) recording the hidden meaning behind the written term
b) translating words from one foreign alphabet into another
c) recording the spoken word into a foreign transliteration
d) retranslating a word or phrase into the original language using a different interpreter to catch errors
e) hiring a professional interpreter to attend all major business meetings

Ans: d
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142. If you were responsible for marketing communications at a company that manufactures office supplies and had to provide product literature to be distributed in France, you would be wise to use ___________, whereby you have someone to translate your literature from American English into French and then have someone else in France translate the French into American English.
a) back talk
b) back translation
c) double talk
d) double dipping
e) double indemnity

Ans: b
Feedback: Back translation is retranslating a word or phrase into the original language using a different interpreter to catch errors. By having the literature translated into French and then back into English, you will be sure the literature conveys the intended meaning.
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143. A New York carwash owner wanted to open a carwash in Quebec, Canada. He hired a U.S. translator to create signage for the new venture and to design some simple advertising. It was not until the business was opened that he learned that he should have used __________. His French signs actually said "car bath" instead of "car wash".
a) Porter's diamond
b) the trade feedback effect
c) back translation
d) semiotics
e) uncertainty avoidance

Ans: c
Feedback: Back translation is retranslating a word or phrase into the original language by a different interpreter to catch errors.
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144. The belief that aspects of one's culture are superior to another's is called __________.
a) cultural ethnocentricity
b) consumer ethnocentrism
c) cultural commitment
d) cross-cultural bias
e) cultural imperialism

Ans: a
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145. The tendency to believe it is inappropriate, indeed immoral, to purchase a foreign-made product is called __________.
a) cultural ethnocentricity
b) consumer ethnocentrism
c) xenophobia
d) cross-cultural bias
e) cultural imperialism

Ans; B
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146. A commercial depicts a young son asking his mother why they have to move. The mother's response indicates because Americans are buying products made in other countries, the boy's father has lost his job. This commercial reflects an attitude of __________.
a) cultural semiotics
b) the trade feedback effect
c) protectionism
d) cultural ethnocentricity
e) consumer ethnocentrism

Ans: e
Feedback: Consumer ethnocentrism is the tendency to believe that it is inappropriate, indeed immoral, to purchase foreign-made products. In this case, the loss of a family's livelihood is being blamed on people who purchase products made outside the U.S.
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147. A woman from Bloomington, Indiana is in Chicago for a weekend of shopping and fine dining. After shopping in at least 10 different stores and trying at least 20 different outfits, she finds exactly what she has been looking for—the perfect linen suit. At the register however, she notices that the label indicates that the suit was made in Ireland. Although she agrees with the salesclerk that the suit is indeed perfect and that Irish linen is considered to be some of the best, she does not purchase that suit; instead she selects a less flattering, more expensive suit that contains a label stating it was made in the USA. This behavior would likely be an example of __________.
a) uncertainty avoidance
b) cultural ethnocentricity
c) consumer ethnocentrism
d) cultural semiotics
e) cultural bias

Ans: c
Feedback: Consumer ethnocentrism is the tendency to believe it is inappropriate, indeed immoral, to purchase foreign-made products. In this case, the consumer was willing to buy a lower-quality, higher-priced item made in the USA instead of one made outside the United States that fit perfectly and was less expensive.
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148. Not so many years ago, many U.S. consumers thought Americans who purchased Japanese made radios, televisions and other electronic equipment were behaving not only inappropriately, but immorally. U.S. consumers who thought buying Japanese products was wrong were exhibiting __________.
a) back translation
b) consumer ethnocentrism
c) culture shock
d) consumer bias
e) cultural acclimation

Ans: b
Feedback: Consumer ethnocentrism is the tendency of consumers to believe is inappropriate, even immoral, to buy foreign-made products. Such consumers believe the purchase of imported products results in lost jobs in the home country, harm to domestic marketers and is indicative of a lack of patriotism.
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149. Which of the following statements illustrates consumer ethnocentrism?
a) "Buy American-made products. Keep America working".—Jim Brown, Cleveland, Ohio, USA
b) "Buy British-made products. Keep the United Kingdom working".—James Burns, Manchester, England
c) "Buy German-made products. Keep Germany working".—Franz Braun, Homburg, Germany
d) "Buy Korean-made products. Keep Korea working".—Jim-ahn Kim, Seoul, Korea
e) All of the above illustrate consumer ethnocentrism

Ans: e
feedback: Consumer ethnocentrism is the tendency to believe that it is inappropriate, indeed immoral, to purchase foreign-made products. Consumer ethnocentrism has been observed in France, Japan, Korea, Germany and national surveys in other parts of Europe and Asia.
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150. Since global marketing is affected by economic considerations, a scan of the global marketplace should include __________.
a) a comparative analysis of the economic development in different countries
b) an assessment of the economic infrastructure in the countries
c) determination of consumer income in different countries
d) consideration of a country's currency exchange rates
e) all of the above

Ans: e
Feedback: A scan of the global marketplace should include (1) a comparative analysis of the economic development in different countries, (2) an assessment of the economic infrastructure in these countries, (3) measurement of consumer income in different countries and (4) recognition of a country's currency exchange rates.
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151. The two major classifications of stages of economic development helpful to global marketers are __________.
a) capitalistic and communist
b) developed and underdeveloped
c) developed and developing
d) capitalistic and developing
e) free enterprise and planned economy

Ans: c
Feedback: The two major groupings of the approximately 260 countries in the world are "developed" and "developing".
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152. Countries moving from an agricultural to an industrial economy are referred to as __________ countries.
a) capitalistic
b) developed
c) communist
d) developing
e) agrarian

Ans: d
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153. Private enterprise dominates __________ countries although they have substantial public sectors as well.
a) developing
b) communist
c) developed
d) socialistic
e) third-world

Ans: c
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154The largest, but poorest socioeconomic group of people in the world are often referred to as being at the __________.
a) bottom of the pyramid
b) bottom of the tree
c) side of the rectangle
d) bottom of the triangle
e) edge of the circle

Ans: a
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155. Motorola developed a low-cost cell phone with battery life as long as 500 hours for rural villagers without regular electricity and an extra-loud volume for use in noisy markets. This phone, a no-frills design priced at $40 is most likely targeted to people __________.
a) in developed countries
b) at the bottom of the pyramid
c) living in Europe
d) at the edge of the circle
e) at the bottom of the triangle

Ans: b
Feedback: In global marketing terms the largest, but poorest socioeconomic group of people in the world are often referred to as being at the bottom of the pyramid. Motorola chose to serve people at the bottom of the pyramid by being responsive to their conditions and needs.
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156. A country's communication, transportation, financial and distribution systems are considered to be its __________.
a) capital infrastructure
b) fixed-asset infrastructure
c) economic infrastructure
d) geopolitical network
e) network infrastructure

Ans: c
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157. The term economic infrastructure refers to __________.
a) everything that constitutes what a country is
b) the people and the wealth of a nation
c) a country's communication, transportation, financial and distribution systems
d) all of a country's natural resources, whether or not they are currently being exploited
e) the military-industrial complex of a nation

Ans: c
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158. A country's economic infrastructure consists of all of the following EXCEPT __________.
a) distribution systems
b) telephone lines
c) roads
d) banks
e) political system

Ans: e
Feedback: Communications, transportation systems, financial services as well as distribution systems contribute to a nation's economic infrastructure. The political system, while important is not included in the term economic infrastructure.
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159. In Latvia, the only six-lane highway connects Riga with Moscow. Otherwise, the roads are two-lane and many are made of cobblestones or bricks. This limits the speed with which deliveries can be made and means that delivery trucks must be quite small. The road network in Latvia is an example of its __________.
a) capital infrastructure
b) political infrastructure
c) economic infrastructure
d) geopolitical network
e) ecosystem

Ans: c
Feedback: Communications, transportation systems, financial services as well as distribution systems contribute to a nation's economic infrastructure.
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160. An example of __________ is that 2/3 of the commercial transactions in Russia involve non-monetary forms of payment.
a) capital infrastructure
b) political infrastructure
c) economic infrastructure
d) geopolitical network
e) ecosystem

Ans: c
Feedback: Communications, transportation systems, financial services as well as distribution systems contribute to a nation's economic infrastructure.
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161. Foreign countries with very low per capita incomes may, nonetheless, be attractive markets for expensive goods. To get a more accurate picture of a country's purchasing power, a country's __________ must also be considered.
a) total income
b) total area
c) geographical location
d) culture
e) income distribution

Ans: e
Feedback: A country's income distribution is important because it gives a more reliable picture of a country's purchasing power. Generally, as the proportion of middle-income households in a country increases, the greater a nation's purchasing power tends to be.
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162. Generally, as the proportion of middle-income households in a country __________, the __________ a nation's purchasing power tends to be.
a) increases; greater
b) increases; less
c) decreases; greater
d) decreases; less
e) there is no relationship between middle-income households and the nation's purchasing power

Ans: a
Feedback: Generally, as the proportion of middle-income households in a country increases, the greater a nation's purchasing power tends to be.
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163. __________ is the practice of offering small, collateral-free loans to individuals who otherwise would not have access to the capital necessary to begin small businesses or other income-generating activities.
a) Macrofinance
b) Microfinance
c) Microcapitalization
d) Macrocapitalization
e) Collateral-free finance

Ans: b
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164. Hindustan Lever realized it could not sell to the rural poor in India unless it found ways to distribute its products such as soap, shampoos and laundry detergents. Lever provided start-up loans to women to buy stocks of products to sell to local villagers. Today, about 1300 poor women sell Lever products in 50,000 villages in India and account for about 15 percent of the company's rural sales in that country. This is an example of Lever's use of __________.
a) macrofinance
b) macrocapitalization
c) microfinance
d) microcapitalization
e) collateral-free finance

Ans: c
Feedback: Microfinance is the practice of offering small collateral-free loans to individuals who otherwise would not have access to the capital necessary to begin small businesses or other income-generating activities. Lever is using microfinance in the example given.
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165. A(n) __________ is the price of one country's currency expressed in terms of another country's currency.
a) balance of price
b) currency exchange rate
c) reciprocity price
d) balance of payments
e) equity exchange factor

Ans: b
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166. Chrysler Corporation wanted to sell its Jeeps in Japan. The car was priced in U.S. dollars at about $19,000, but when it reached the Japanese car showrooms, its price was over 31,000 Japanese yen and the Japanese could not afford to buy it. Its price was set without regard for the __________.
a) balance of price
b) currency exchange rate
c) reciprocity price
d) balance of payments
e) equity exchange factor

Ans: b
Feedback: A currency exchange rate is the price of one country's currency expressed in terms of another country's currency.
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167. Fluctuations in __________ among the world's currencies have direct impact on the sales and profits made by global companies.
a) immigration
b) transportation
c) reciprocity
d) exchange rates
e) equity

Ans: d
Feedback: A currency exchange rate is the price of one country's currency expressed in terms of another country's currency, such as the U.S. dollar expressed in Brazilian reals. Fluctuations in exchange rates among the world's currencies have direct impact on the sales and profits made by global companies.
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168. The PRS group maintains a website that can be used to determine __________.
a) a list of all companies in each country
b) whether consumers in different countries like American products
c) a country's political risk ratings
d) the tariffs of each country
e) all current laws in every country

Ans: c
Feedback: The focus of the PRS group is on maintaining multiple databases of country-specific information, including political risk ratings. These can be used to determine the relative favorability of various business climates.
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169. __________ in a country is directly affected by numerous factors including the government's orientation toward foreign companies and trade with other countries.
a) Culture
b) Political stability
c) Income
d) Psychographics
e) Demographics

Ans: b
Feedback: Political stability is directly affected by the government's orientation toward foreign companies and trade with other countries.
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170. Standards for registration and certification of a manufacturer's quality management and quality assurance system are __________ standards.
a) XK-90
b) 7-300ZX
c) IPD 2000
d) ISO 9000
e) IOS 14000

Ans: d
Feedback: The European Union's ISO 9000 quality standards involve registration and certification of a manufacturer's quality management and quality assurance system.
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171. Which of the following would serve as a trade barrier?
a) Japanese car safety rules requiring all automobile replacement parts to be Japanese
b) EU nations have 10,000 rules that specify how goods are to be made and marketed
c) EU ISO 9000 quality standards
d) Regulations related to contacting consumers via phone, fax and e-mail without their prior consent
e) All of the above would serve as trade barriers

Ans: e
Feedback: Countries have a variety of rules that govern business practices within their borders. These rules often serve as trade barriers. All of the examples in the question effectively serve as trade barriers.
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172. Producing goods in one country and selling them in another country is called __________.
a) foreign exchange
b) countertrading
c) transporting
d) exporting
e) facilitating

Ans: d
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173. Indirect exporting is __________.
a) offering the right to a trademark, patent, trade secret or similarly valued item of intellectual property in return for a royalty or fee
b) contracting with a foreign firm to manufacture products according to stated specifications
c) when a foreign country and a local firm invest together to create a local business
d) when a firm sells its domestically-produced goods in a foreign country through an intermediary
e) when a firm sells its domestically-produced goods in a foreign country without intermediaries

Ans: d
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Learning Objective: 4
174. When a firm sells its domestically produced goods in a foreign country through an intermediary, it is using __________.
a) direct exporting
b) indirect exporting
c) licensing
d) contract manufacturing
e) foreign assembly

Ans: b
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Learning Objective: 4
175. The U.S. motorcycle manufacturer Harley-Davidson uses intermediaries to sell its motorcycles in numerous nations outside the U.S. Harley-Davidson uses __________.
a) direct exporting
b) indirect exporting
c) licensing
d) contract manufacturing
e) foreign assembly

Ans: b
Feedback: Indirect exporting occurs when a firm sells its domestically produced goods in a foreign country through an intermediary.
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Learning Objective: 4
176. Indirect exporting occurs when a firm sells its domestically produced goods in a foreign country __________.
a) in violation of a quota
b) without paying import duties
c) without paying export duties
d) through an intermediary
e) without billing in blocked currency

Ans: d
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Learning Objective: 4
177. When a U.S. airplane manufacturer sells its airplanes to business executives in Germany without using intermediaries, it is called __________.
a) direct exporting
b) indirect exporting
c) licensing
d) foreign manufacturing
e) foreign assembly

Ans: a
Feedback: Direct exporting is when a firm sells its domestically produced goods in a foreign country without intermediaries.
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Learning Objective: 4
178. Direct exporting is __________.
a) offering the right to a trademark, patent, trade secret or similarly valued items of intellectual property in return for a royalty or fee
b) contracting with a foreign firm to manufacture products according to certain specifications
c) when a foreign country and a local firm invest together to create a local business
d) when a firm sells its domestically-produced goods in a foreign country through an intermediary
e) when a firm sells its domestically-produced goods in a foreign country without intermediaries

Ans: e
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Learning Objective: 4
179. Licensing is __________.
a) offering the right to a trademark, patent, trade secret or similarly valued items of intellectual property in return for a royalty or fee
b) contracting with a foreign firm to manufacture products according to certain specifications
c) when a foreign country and a local firm invest together to create a local business
d) having a company handle its own exports directly, without intermediaries
e) exporting through an intermediary, which often has the knowledge and means to succeed in selling a firm's product abroad

Ans: a
Feedback: Under licensing, a company offers the right to a trademark, patent, trade secret or other similarly valued items of intellectual property in return for a royalty or a fee.
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Learning Objective: 4
180. Offering the right to a trademark, patent, trade secret or similarly valued items of intellectual property in return for a royalty or fee is called __________.
a) direct exporting
b) indirect exporting
c) licensing
d) contract manufacturing
e) foreign assembly

Ans: c
Feedback: Under licensing, a company offers the right to a trademark, patent, trade secret or other similarly valued items of intellectual property in return for a royalty or a fee.
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Learning Objective: 4
181. Tricon was the restaurant division of PepsiCo until it was spun off in 1997. Since then Tricon has opened 6,000 KFC restaurants abroad. It has 158 in Indonesia and more than 500 restaurants in China. All are locally owned and the owner pays a fee to Tricon. Tricon is engaged in __________.
a) direct exporting
b) indirect exporting
c) licensing
d) contract manufacturing
e) foreign assembly

Ans: c
Feedback: Tricon has given the local restaurant owners the benefit of its patents, trade secrets, etc. and the owners pay Tricon a licensing fee.
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Learning Objective: 4
182. A form of low risk and capital-free entry into international marketing that includes local manufacturing and local assembly is called __________.
a) indirect exporting
b) direct ownership
c) joint ventures
d) licensing
e) direct exporting

Ans: d
Feedback: Under licensing, a company offers the right to a trademark, patent, trade secret or other valued item in exchange for a royalty or fee. The advantages to the company granting the license are low risk and capital-free entry into international marketing.
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Learning Objective: 4
183. Fran Wilson Creative Cosmetics Moodmatcher lip coloring is sold in which type of retail store in Japan?
a) Grocery stores
b) Flower shops
c) Beauty shops
d) Department stores
e) Gift stores

Ans: c
Feedback: Fran Wilson Creative Cosmetics does not sell to department stores. Rather, the company sells its Moodmatcher lipstick through a network of Japanese distributors that reach Japan's 40,000 beauty salons.
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Learning Objective: 4
184. Two variations on licensing are __________.
a) contract manufacturing and contract assembly
b) contract manufacturing and franchising
c) contract manufacturing and joint ventures
d) foreign assembly and franchising
e) foreign assembly and joint ventures

Ans: a
Feedback: Two variations on licensing, contract manufacturing and contract assembly represent alternative ways to produce a product within the foreign country.
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Learning Objective: 4
185. Contract manufacturing is __________.
a) offering the right to a trademark, patent, trade secret or similarly valued items of intellectual property in return for a royalty or fee
b) contracting with a foreign firm to manufacture products according to stated specifications
c) contracting between a foreign country and a local firm to invest together to create a local business
d) having a company handle its own exports directly, without intermediaries
e) exporting through an intermediary, which often has the knowledge and means to succeed in selling a firm's product abroad

Ans: b
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Learning Objective: 4
186. Companies, which contract with a foreign firm to manufacture products according to stated specifications, are using __________.
a) direct exporting
b) indirect exporting
c) licensing
d) contract manufacturing
e) contract assembly

Ans: d
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Learning Objective: 4
187. New Balance Athletic Shoes, Inc. claimed its shoes were "made in the USA" when actually the shoe soles and most of the uppers were made in China. The shoes were assembled in the U.S. The Federal Trade Commission did not think that assembling the shoes in the U.S. was enough to use the "made in the USA" logo. New Balance actually used __________.
a) direct exporting
b) indirect exporting
c) licensing
d) contract manufacturing
e) contract assembly

Ans: d
Feedback: Contract manufacturing is when a U.S. company contracts with a foreign firm to manufacture products according to stated specifications. New Balance contracted with a Chinese firm to manufacture soles and uppers to New Balance's specifications, which were then assembled in the U.S.
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Learning Objective: 4
188. Contracting with a foreign firm to assemble parts and components that have been shipped to that country is called __________.
a) direct exporting
b) indirect exporting
c) licensing
d) contract manufacturing
e) contract assembly

Ans: e
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Learning Objective: 4
189. Contract assembly is __________.
a) offering the right to a trademark, patent, trade secret or similarly valued items of intellectual property in return for a royalty or fee
b) contracting with a foreign firm to assemble parts and components that have been shipped to that country
c) when a foreign company and a local firm invest together to create a local business
d) having a company handle its own exports directly, without intermediaries
e) exporting through an intermediary, which often has the knowledge and means to succeed in selling a firm's product abroad

Ans: b
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Learning Objective: 4
190. Which of the following is an advantage inherent in the use of licensing?
a) High entry costs
b) High risk
c) The licensee gains information about the dynamics of the market
d) Increased employment in the company licensing its brand or technology
e) All of the above

Ans: c
Feedback: The licensee gains information that allows it to start with a competitive advantage and the foreign country gains employment by having the product manufactured locally.
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Learning Objective: 4
191. Which of the following is an advantage inherent in the use of licensing?
a) High entry costs
b) High risk
c) The foreign country gains employment
d) Increased employment in the company licensing its brand or technology
e) All of the above

Ans: c
Feedback: The licensee gains information that allows it to start with a competitive advantage and the foreign country gains employment by having the product manufactured locally.
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Learning Objective: 4
192. Which of the following is a disadvantage associated with licensing?
a) Licensor has lower wages and prices
b) Licensor creates its own competition
c) Licensor has increased profit potential
d) Licensor has complete control of the product
e) The firm's reputation is improved if it selects a poor choice as a licensee

Ans: b
Feedback: Lower wages and prices are not a disadvantage to licensing arrangements with foreign firms. Licensing decreases profit potential and gives the company no control over its product, which is why a poor choice in licensee can create a poor image for product. The licensing firm may create its own competition as some licensees are able to modify the product somehow and enter the market with product and marketing knowledge gained at the expense of the company that got them started.
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Learning Objective: 4
193. Tricon was the restaurant division of PepsiCo until it was spun off in 1997. Since then Tricon has opened 6,000 KFC restaurants abroad. It has 158 in Indonesia and more than 500 restaurants in China. All are locally owned and the owner pays a fee to Tricon. Tricon is engaged in __________.
a) contract assembly
b) a joint venture
c) contract manufacturing
d) a partnership
e) franchising

Ans: e
Feedback: Franchising is a type of licensing.
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Learning Objective: 4
194. A joint venture is __________.
a) offering the right to a trademark, patent, trade secret or similarly valued items of intellectual property in return for a royalty or fee
b) contracting with a foreign firm to manufacture products according to certain specifications
c) when a foreign company and a local firm invest together to create a local business
d) having a company handle its own exports directly, without intermediaries
e) exporting through an intermediary, which often has the knowledge and means to succeed in selling a firm's product abroad

Ans: c
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Learning Objective: 4
195. When a foreign company and a local firm invest together to create a local business, it is called __________.
a) direct exporting
b) a joint venture
c) licensing
d) local manufacturing
e) local assembly

Ans: b
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Learning Objective: 4
196. Direct investment in international marketing means __________.
a) offering the right to a trademark, patent, trade secret or similarly valued items of intellectual property in return for a royalty or fee
b) contracting with a foreign firm to manufacture products according to certain specifications
c) when a foreign company and a local firm invest together to create a local business
d) having a company handle its own exports directly, without intermediaries
e) a domestic firm actually investing in and owning a foreign subsidiary or division

Ans: e
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Learning Objective: 4
197. When a domestic firm actually invests in and owns a foreign subsidiary or division, it is called __________.
a) direct investment
b) a joint venture
c) licensing
d) local manufacturing
e) local assembly

Ans: a
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Learning Objective: 4
198. Which form of entry into a foreign market requires the greatest commitment?
a) Direct exporting
b) Direct investment
c) Joint venture
d) Licensing
e) Indirect exporting

Ans: b
Feedback: The biggest commitment a company can make when entering the international market is by direct investment, which entails actually investing in and owning a foreign subsidiary or division.
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Learning Objective: 4
199. Both Honda and Toyota have plants in the U.S. that use American labor. This example is an illustration of Honda and Toyota practicing __________.
a) direct exporting
b) direct investment
c) joint venture
d) licensing
e) indirect exporting

Ans: b
Feedback: Direct investment entails a domestic firm actually investing in and owning a foreign subsidiary or division. Honda and Toyota are domestic firms (to Japan) that own a foreign (U.S.) subsidiary or division.

Page: 199

Learning Objective: 4
200. The product strategy of selling virtually the same product in other countries is called a product __________ strategy.
a) extension
b) globalization
c) adaptation
d) invention
e) integration

Ans: a
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Learning Objective: 5
201. Coca-Cola, Wrigley's gum and Levi's jeans sell virtually the same product in countries around the world. These are examples of which type of international product strategy?
a) Product extension
b) Product customization
c) Product adaptation
d) Product invention
e) Product integration

Ans: a
Feedback: The product strategy of selling virtually the same product in other countries is called product extension strategy. As a general rule, product extension seems to work best when the consumer market target for the product is alike across countries and cultures—that is, consumers share the same desires, needs and uses for the product.
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Learning Objective: 5
202. The company that makes Breathe-Right nasal strips sells the same product in other countries. This is an example of which type of international product strategy?
a) Product extension
b) Product customization
c) Product adaptation
d) Product invention
e) Product integration

Ans: a
Feedback: The product strategy of selling virtually the same product in other countries is called product extension strategy. As a general rule, product extension seems to work best when the consumer market target for the product is alike across countries and cultures—that is, consumers share the same desires, needs and uses for the product.
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Learning Objective: 5
203. Changing a product in some way to make it more appropriate for a country's climate or preferences is an example of which type of product strategy?
a) Product extension
b) Product customization
c) Product adaptation
d) Product invention
e) Product integration

Ans: c
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Learning Objective: 5
204. KFC in Japan altered the sweetness of its coleslaw to appeal to Japanese tastes. This is an example of which type of international product strategy?
a) Product extension
b) Product customization
c) Product adaptation
d) Product invention
e) Product integration

Ans: c
Feedback: Changing a product in some way to make it more appropriate for a country's climate or preferences is a product adaptation strategy.
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Learning Objective: 5
205. Designing a product to serve the unmet needs of a foreign nation is which type of product strategy?
a) Product extension
b) Product customization
c) Product adaptation
d) Product invention
e) Product integration

Ans: d
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Learning Objective: 5
206. Nescafé coffee is marketed using different coffee blends and promotional campaigns to match consumer preferences in different countries. For example Nescafé generally emphasizes the taste, aroma and warmth of shared moments in its advertising around the world. However in Thailand Nescafé is advertised as a way to relax from the pressures of daily life. Nescafé is using which type of product strategy?
a) Product extension
b) Product customization
c) Product adaptation
d) Dual adaptation
e) Dual integration

Ans: d
Feedback: A dual adaptation strategy means modifying both their products and promotion messages, which Nescafé has done in this example.
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Learning Objective: 5
207. What is the term for a firm selling a product in a foreign country below its domestic price or below its actual cost?
a) Competition
b) Monopolistic practice
c) Globalization
d) Dumping
e) Channeling

Ans : D
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Learning Objective: 5
208. Eastman Kodak accused Japanese rival Fuji Photo Film of selling photographic paper in the United States for 25 percent of what it charges in Japan. In other words, Eastman Kodak accused Fuji of __________.
a) competition
b) monopolistic practice
c) globalization
d) dumping
e) channeling

Ans: d
Feedback: A firm selling a product in a foreign country below its domestic price or below its actual cost is often accused of dumping.
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Learning Objective: 5
209. __________ is a situation where products are bought in a lower-priced country from a manufacturer's authorized reseller, shipped to higher-priced countries and sold through unauthorized retailers below the manufacturer's suggested retail price.
a) Black market
b) Gray market
c) Monopolized market
d) Globalized market
e) Parallel exporting

Ans: b
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Learning Objective: 5
210. The Japanese manufacture tractors for rice paddies. They are smaller than most U.S. tractors and perfect for a weekend farmer who wants to tend to a small garden. The tractors are not sold in the U.S. through any authorized channels, yet they are available in the U.S. at prices below the manufacturer's suggested retail price. What is the term for how these tractors are being sold?
a) On the gray market
b) Under the counter
c) Over the counter
d) Through globalized channels
e) Through a distribution monopoly

Ans: a
Feedback: Gray marketing is a situation where products are bought in a lower-priced country from a manufacturer's authorized reseller, shipped to higher-priced countries and sold through unauthorized channels of distribution below the manufacturer's suggested retail price.
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Learning Objective: 5
211. What strategies does Sakae Sushi use to enter international markets?
a) Direct investment
b) Joint venture
c) Franchises
d) None of the above
e) All of the above
Ans : E

Feedback: “We have been exploring the Vietnam, Middle East, and European markets for some time,” says Foo. “We have [also] been receiving enquires from South Africa and even India.” However, for some countries like those in the Middle East, Foo might need to consider joint ventures or franchises, as foreign owners are allowed to take up only a minority stake. 
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Learning Objective: 4
212. Which of the following is(are) the challenge(s) affecting Sakae Sushi when going global?

a) Cultural differences
b) Limited market opportunities
c) Fierce global competition
d) Careful screening of future overseas partners
e) All of the above

Ans: d
Feedback: Foo says he will screen future partners carefully, as he was let down by an Indonesian franchisee.
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Learning Objective: 3
Short Answer

213. What is the trade feedback effect? 

Ans: The global perspective of world trade views a country's exports and imports as complementary economic flows. One nation's imports reflect another nation's exports. As the exports of country A increase, its income rises which ultimately creates a demand for imports from other nations. These other nations, B or C, now have a greater demand for their exports to country a) The increase in demand for exports from countries B and C increases their domestic income thereby stimulating different imports from country a) The cycle repeats itself. This phenomenon is called the trade feedback effect and is one argument for free trade among nations.
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Learning Objective: 1
214. List and briefly describe the four main elements of Porter's diamond of national competitive advantage. 

Ans: The four major elements of Porter's diamond of national competitive advantage include factor conditions, demand conditions, related and supporting industries and company strategy, structure and rivalry. Factor conditions include a nation's ability to use its natural resources, education and skill levels and wage rates. Demand conditions refer to the size of the market, sophistication of consumers and media exposure of an industry's products. Related and supporting industries refers to the existence of supplier clusters that can accelerate innovation. Company strategy, structure and rivalry refer to the number of companies in an industry, the intensity of competition and whether ownership is public or private.
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Learning Objective: 1
215. Give one argument for and one argument against protectionism. 

Ans: People who favor protectionism believe that it preserves jobs, protects a nation's political security, discourages economic dependency on other countries and encourages domestic industry. Those who oppose protectionism believe that it inhibits world trade and that it may result in higher domestic prices on goods and services produced by protected industries and while the decreased supply may raise prices, the tariffs are a virtually certain way to do so.
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Learning Objective: 2
216. A signal that the world's trading nations are committed to open markets—and will resist protectionism—would inject confidence and energy into our markets", says the U.S. Trade Representative. Discuss this statement. 

Ans: This statement indicates that the U.S. Trade Representative is opposed to protectionism. He believes it inhibits world trade and that it may result in higher domestic prices on goods and services produced by protected industries. Lower prices will increase consumer buying and increased consumer buying will increase production. Increased production will lead to more jobs, higher profits and increased confidence.
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Learning Objective: 2
217. Briefly describe the World Trade Organization (WTO). 

Ans: The World Trade Organization (WTO) was formed in 1995 to address a broad array of world trade issues. There are 150 WTO member countries, including the U.S., which account for more than 90 percent of world trade. The WTO is a permanent institution that sets rules governing trade between its members through panels of trade experts who decide on trade disputes between members and issue binding decisions. The WTO reviews more than 200 disputes annually.
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Learning Objective: 2
218. If your primary motive were to raise prices on imports, would you use tariffs or quotas? Why? 

Ans: If your primary motive were to raise prices on imports, then your choice would be tariffs. Tariffs are government taxes on goods or services entering a country. They help equalize price competition between foreign and domestic goods. Quotas are restrictions placed on the amount of a product that may enter or leave a country.

Page: 180, figure 7-3

Learning Objective: 2
219. In recent years, a number of countries with similar economic goals have formed transnational trade groups or signed trade agreements for the purpose of promoting free trade. Describe the best-known three. 

Ans: (1) European Union consists of 27 member countries that have eliminated most barriers to the free flow of goods, services, capital and labor across their borders. In addition, 14 countries have adopted the euro, eliminating the need to continually monitor the currency exchange rate.
(2) North American Free Trade Agreement lifted many trade barriers between Canada, Mexico and the U.S. and created a marketplace with more than 450 million consumers. In 2006 a comprehensive free trade agreement among Costa Rica, the Dominican Republic, El Salvador, Guatemala, Honduras, Nicaragua and the U.S. extended many NAFTA benefits to Central American countries and the Dominican Republic. Called CAFTA-DR, this agreement is viewed as a step toward a 34-country Free Trade Area of the Americas for the Western Hemisphere.
(3) Asian Free Trade Agreements are growing. They are less formal than those underlying the EU and NAFTA, but they have reduced tariffs among countries and promoted trade.
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Learning Objective: 2
220. (p. 184) Three types of companies populate and compete in the global marketplace. Identify and succinctly describe each type. 

Ans: all three types of global companies employ people in different countries and many have administrative, marketing and manufacturing operations (often called divisions or subsidiaries) around the world. However a firm's orientation toward and strategy for global markets and marketing defines the type of company it is or attempts to be.
An international firm engages in trade and marketing in different countries as an extension of the marketing strategy in its home country.
A multinational firm views the world as consisting of unique parts and markets to each part differently.
A transnational firm views the world as one market and emphasizes cultural similarities across countries or universal consumer needs and wants more than differences.
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Learning Objective: 2
221. Identify and describe the factors a company should consider in order to do a thorough cross-cultural analysis. In your answer be sure to define cross-cultural analysis. 

Ans: cross-cultural analysis involves the study of similarities and differences among consumers in two or more nations or societies.
A thorough analysis should include a study of a country's values, customs, symbols and language.
Values are the personally or socially preferable modes of conduct or states of existence that tend to persist over time.
Customs are the norms and expectations about the way people do things in a specific country. Cultural symbols are things that represent ideas and concepts. It is important not to assume that all symbols have a universal meaning.
Language study should include more than a literal translation; knowledge of nuances and idioms as well as an acknowledgment of dialects or multiple national languages should be considered as well.
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Learning Objective: 3
222. What is the difference between cultural ethnocentricity and consumer ethnocentrism? 

Ans: cultural ethnocentricity is the belief that aspects of one's culture are superior to another's. Consumer ethnocentrism is the belief that it is wrong or inappropriate to buy foreign made products. With the latter belief, a person would buy a domestic product even if a superior or less expensive foreign-made item were available.
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Learning Objective: 3
223. Why should global marketers use back translation? 

Ans: back translation is where a translated word or phrase is retranslated into the original language by a different interpreter to catch errors. This will help prevent unintended meanings from occurring in marketing plans.
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Learning Objective: 3
224. What does the phrase economic infrastructure mean? 

Ans: economic infrastructure is a country's communication, transportation, financial and distribution systems. This represents a critical consideration in a company's determination of whether it should try to market to a country's consumers and organizations.
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Learning Objective: 3
225. Describe the people at the bottom of the pyramid and give an example of how global companies are choosing to serve them. 

Ans: about 86 percent of the world's population of roughly 6.8 billion people reside in developing countries on one-fifth of total world income. Four billion of these people live on less than $2 per day. In global marketing terms, they are viewed as being at the bottom of the pyramid, which is the largest, but poorest socioeconomic group of people in the world.
Motorola is an example of a global company that is choosing to serve these people by providing a low-cost cell phone with battery life as long as 500 hours for rural villagers without regular electricity and an extra-loud volume for use in noisy markets. [Students may have other examples of their own.]
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Learning Objective: 3
226. What are the market entry strategy options available to a company seeking to enter the global marketplace? How do they relate to each other in terms of profit potential, risk, financial commitment required and marketing control? 

Ans: Once a company has decided to enter the global marketplace, it may select one of four strategies:
Exporting
Licensing
joint venture
direct investment
The amount of financial commitment, risk, marketing control and profit potential, increases as the firm moves from exporting to direct investment.

Page: 196, figure 7-6

Learning Objective: 4
227. Explain the difference between indirect exporting and direct exporting. What are the advantages and disadvantages of each approach? 

Ans: Indirect exporting is when a firm sells its domestically produced goods in a foreign country through an intermediary. It has the least amount of commitment and risk but will probably return the least profit. Indirect exporting is ideal for a company that has no overseas contacts but wants to market abroad. The intermediary is often a distributor that has the marketing know-how and resources necessary for the effort to succeed.
Direct exporting is when a firm sells its domestically produced goods in a foreign country without intermediaries. Direct exporting involves more risk than indirect exporting for the company but also opens the door to increased profits. Most companies become involved in direct exporting when they believe their volume of sales will be sufficiently large and easy to obtain so that they do not require intermediaries.
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Learning Objective: 4
228. Discuss licensing. Define it, give the advantages and disadvantages and explain what contract manufacturing, contract assembly and franchising are. 

Ans: Licensing offers the right to a company trademark, patent, trade secret or other similarly valued items of intellectual property in return for a royalty or a fee. The advantages to the company granting the license are low risk and a capital-free entry into a foreign country. The licensee gains information that allows it to start with a competitive advantage and the foreign country gains employment by having the product manufactured locally. However, the licensor forgoes control of its product and reduces the potential profits gained from it. The licensor may be creating its own competition. To offset this disadvantage, many companies strive to stay innovative so that the licensee remains dependent on them. Additionally, should the licensee prove to be a poor choice, the name or reputation of the company may be harmed.
Contract manufacturing is when a U.S. company contracts with a foreign firm to manufacture products according to stated specifications. The product is then sold in the foreign country or exported back to the U.S. With contract assembly, the U.S. company may contract with a foreign firm to assemble (not manufacture) parts and components that have been shipped to that country.
Franchising is one of the fasted growing market-entry strategies. Franchises include soft-drink, motel, retailing, fast-food and car rental operations and a variety of business services.
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Learning Objective: 4
229. Explain the difference between a joint venture and direct investment market-entry strategies. What are the advantages and disadvantages of each approach? 

Ans: When a foreign company and a local firm invest together to create a local business, it is called a joint venture. These two companies share ownership, control and profits of the new company. The advantages include: one company may not have the necessary financial, physical or managerial resources to enter a foreign market alone. A government may require or strongly encourage a joint venture before it allows a foreign company to enter its market. The disadvantages arise when companies disagree about policies or courses of action or when governmental bureaucracy bogs down the effort.
Direct investment entails a domestic firm actually investing in and owning a foreign subsidiary or division. Advantages include cost savings, better understanding of local market conditions and fewer local restrictions. Disadvantages include increased financial commitments and risks.
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Learning Objective: 4
230. What are the product and promotion strategies available to a company seeking to enter the global marketplace? How do they relate to each other in terms of the same or adapted product and promotion? 

Ans: There are five product and promotional strategies for global marketing.
Sell the same home country product using the same home country promotion in a foreign country (product extension strategy)
Sell the same home country product using an adapted promotion strategy in a foreign country (communication adaptation strategy)
Sell an adapted home country product using the same home country promotion in a foreign country (product adaptation strategy)
Sell an adapted home country product using an adapted home country promotion in a foreign country (dual adaptation strategy)
Create a new product for the foreign market (product invention strategy)
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Learning Objective: 5
231. Give an example of a global channel of distribution. 

Ans: One example of a global channel of distribution is:
Seller to seller's international marketing headquarters to channels between nations to channels within foreign nations to final consumer. This is the broadest type of channel. [The student may also give a more specific example.]
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Learning Objective: 5
232. Explain the difference between dumping and parallel importing. 

Ans: dumping is when a firm sells a product in a foreign country below its domestic price or below its actual cost. Parallel importing or the gray market is when companies price their products very high in some countries but competitively in others. Individuals then buy products in a lower-priced country from an authorized retailer, ship them to higher-priced countries and sell them below the suggested retail price through unauthorized retailers.
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Learning Objective: 5

